
Z

T.C. Ölçme, Seçme ve Yerleştirme Merkezi

Bu testlerin her hakkı saklıdır. Hangi amaçla olursa olsun, testlerin tamamının veya bir kısmının Merkezimizin yazılı izni olmadan kopya edilmesi, 
fotoğrafının çekilmesi, herhangi bir yolla çoğaltılması, yayımlanması ya da kullanılması yasaktır. Bu yasağa uymayanlar gerekli cezai sorumluluğu ve 
testlerin hazırlanmasındaki mali külfeti peşinen kabullenmiş sayılır.
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Bu testte 50 soru vardır.

 1. - 4. sorularda, cümlede boş bırakılan yerlere
uygun düşen sözcük veya ifadeyi bulunuz.

1.

  

2.

  

3.

4.

5.

Diğer sayfaya geçiniz.
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VERBS X Y Z

NOUN
PHRASES

a break a promise a favour

a drink an offer the cleaning

a look an effort some exercise

 Which of the following completes the table correctly
with reference to collocation rules?

       X                   Y                   Z         

      get                      have                         do

      do                       get                           make

      have                   make                        do

      have                   do                             get

      get                      make                        do

6.

A)

B)

C)

D)

E)

7.

8.

9.

  

10.

Diğer sayfaya geçiniz.
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11.

12.

13.

Diğer sayfaya geçiniz.
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 14. - 16. soruları aşağıdaki parçaya göre
cevaplayınız.

14.

15.

16.

Diğer sayfaya geçiniz.
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17. 18.

Diğer sayfaya geçiniz.
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19. 20.

Diğer sayfaya geçiniz.
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21.  A perennially contentious issue in English is the search
for a gender-neutral third-person singular pronoun.
Generally, he is taken as the default, as in “If someone
calls, let him know I’ll be back at 3 p.m.”  ---- He or
she is long and complicated, and constructs like s/he
or (s)he or he/she have never caught on, probably
because they sound artifical (and how would you even
pronounce them?) And one, as in “One must fill in and
sign this form.” sounds literary or too formal. For some,
to change the default to she would be unthinkable.

 Which of the following completes the paragraph?

The use of masculine, feminine, or neutral genders to
classify words does not require its speakers to
conceptualise these words as having male- or
female-like properties.

Some professional authors using the default he think
that the so-called generic pronoun he/him/his was an
invention of male grammarians.

There are still many other cases of gender bias in the
English lexicon; for example, chairman, salesman,
businessman, and policeman are among the most
debated ones.

Since the 1970s, the feminist movement has had an
impact on changing at least some of the subtle sexism
in English.

In fact, there is no easy choice if someone wants to
avoid this, because none of the seemingly practical 
suggestions have been largely accepted.

22.

A)

B)

C)

D)

E)

  

Diğer sayfaya geçiniz.
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23. 24.

25.

26.

Diğer sayfaya geçiniz.
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27.

28.

29.

O, my Luve's like a red, red rose
That's newly sprung in June.
O, my Luve's like the melodie
That's sweetly played in tune.

 What is the literary device used in the underlined
lines of the above stanza from the poem "A Red,
Red Rose" by Robert Burns?

Metaphor Simile

Irony Oxymoron

Personification

30.

A) B)

C) D)

E)

  

31.

32.

  

Diğer sayfaya geçiniz.
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camera + recorder → camcorder
education + entertainment → edutainment
binary + digit → bit

 Which of the following word-formation processes is
used in the given examples?

Clipping Back-formation

Abbreviation Generification

Blending

33.

34.

  

35.

A) B)

C) D)

E)

36.

37.

Diğer sayfaya geçiniz.
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38.

39.

  

 No use of the mother tongue is permitted.

 When the teacher introduces a new target language
word or phrase, he or she demonstrates its meaning
through the use of realia and pictures.

 Lessons contain some conversational activity – some
opportunity for students to use language in real
contexts.

 Grammar is learned inductively.

 The syllabus is based on situations or topics, not on
linguistic structures.

Which of the following methods has the principles
listed above?

The Grammar-Translation Method

The Direct Method

The Audio-Lingual Method

Suggestopedia

Total Physical Response

40.

41.

A)

B)

C)

D)

E)

Diğer sayfaya geçiniz.
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42.

43.

  

44.

45.

Diğer sayfaya geçiniz.
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46.

47.

48.

  

49.

Diğer sayfaya geçiniz.
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50.

TEST BİTTİ.
CEVAPLARINIZI KONTROL EDİNİZ.14
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